
2.
a) FG = FGrav

b) Die für die Kreisbahn notendige Zentralkraft wird von der Grafitationskraft gelievert

FZ = FGrav

m * r * ω² = G * m * ME / r²

→ r³ * 4π/T² = G * ME  M⇒ E = { r³ * 4π² } / { T² * G }

ME = {(384*10 m)³ * 4π²} / { (27,3 * 24* 3600s)² * 6,67⁶  10 ¹¹ m³/k*gs² ⁻
ME = 6,02*10² Kg⁴

c) ρ = ME / V

ρ = {3*5,97*10² Kg}/{4*(6371*10³m)³*π}⁴
ρ = 5511,41223 Kg/m³
ρ = 5,5t/m³

3. Fz = Fgrav

… rs = wurzel3{G*mE * T² / {4*π²}

rS = 42,2*10 m⁶
h=rS – rE = 35,6 * 10 m⁶

4. Fz = Fgrav

Msonne = {r³*4π²} over { G*T²)

MS = 2,0 * 10³ Kg⁰


